
               John Deere Gator        
                    Non-Current 2005 and Older 

                                                          Part# FAS-DCGT 
                                                     Part# FAH-DC2PT 

 

                    TRACTOR SUNSHADE 
                                                                        6010 N 53rd Dr 
                                                                     Glendale AZ, 85301 
            Phone: 623-934-9340    Email: info@tractorsunshade.com   Website: tractorsunshade.com 
 

                      Mounting Instructions 

       Bracket & Hardware  
           Components 

TOOLS REQUIRED: Ratchet with 9/16” & 3/4” sockets, 
9/16” & 3/4” wrenches, Tape measure, Electric drill 3/8” drill 
bit, and a  Level 

● Qty - (2) Uprights 
○ 1 - Right 
○ 1 - Left 

● Qty - (2) Mounting Tubes  (40’’) 
● Qty - (2) Mounting Plates  
● Qty - (1) Flat Steel strap 
● Qty - (1)  34.5’’ Threaded Rod 
● Qty - (1)  33.5’’ Threaded Rod 
● Qty - (4) ½’’ serrated flange nut 
● Qty - (2) Strap bolt 
● Qty - (2) Strap Nut 
● Qty - (2) Strap washer 
● Qty - (4) 2-¼’’ Hex Cap Bolt   
● Qty - (4) ⅜’’Serrated Flange Nut     
● Qty - (8) ⅜’’ Flat Washers    
● Qty - (4) ⅜’’ x 1-½’’ Rubber Isolator Pad 
● Qty - (4) ⅜’’ Neoprene Washers 
● Qty - (4) ⅜’’ Nylock Nuts  
● Qty - (2) Amber  Reflectors    
● Qty - (2) Red Reflectors 

 

 
 
 
STEP 1:  

 
 

STEP2: Thread (1) flange nut to threaded rod end and                                                                                                       
feed through completely under Gator. Insert through other                                                                                           
upright bottom hole and attach flange nut. 

  

 

mailto:info@tractorsunshade.com


                John Deere Gator  
                      Non-Current 2005 and Older                                          

                                               Part# FAS-DC2PT   Part# FAH-DC2PT 

                                                        TRACTOR SUNSHADE 
                                                                      6010 N 53rd Dr 
                                                                    Glendale AZ, 85301 
                                                          
          Phone: 623-934-9340    Email: info@tractorsunshade.com   Website: tractorsunshade.com 
 

 
 
STEP 3: Loosely attach upright side 
plates using the 2” x ½” bolts on the inside 
of each upright and level.  

 
STEP 4: Attach tubes with enclosed 2”- 
1/4” bolts to the inside of each side plate, 
extending forward. Re-level tubes and 
tighten all nuts. 

 
STEP 5: Attach 39”- 3/4” cross strap. 
IMPORTANT: Strap must be positioned as 
per diagram, and attaching bolts must be 
inserted from outside with the nuts coming 
from the inside.  

 
STEP 6: Set canopy onto tubes and center. 
Starting with one rear corner, drill a 3/8” hole from 
below, up through canopy, using the pre-drilled tube 
holes as a guide. With flat washer in place, run 2”-3/4” 
bolt up through tube. Insert 1”-1/2” x 3/8” rubber 

isolator pad on bolt positioned between tube and 
canopy underside. Run bolt through canopy, insert 
rubber-backed washer and loosely tighten with 3/8” 
Nylock nut. Repeat by attaching the other rear side 
second; then the two front mounts.   

                                    
 
STEP 7: Tighten down all 4 sunshade bolts. IMPORTANT: Do NOT overtighten. Only secure enough to slightly 
"bulge" the rubber  isolator pad with the nylock nut fully on thread. 

                                                                 
                                        ***SUNSHADE INSTALLATION COMPLETE***                                                                 

mailto:info@tractorsunshade.com

